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(b)  Solve the following instance of the 0/1 knapsack
problem given the kanpsack capacity is W = 5.
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(c)

What is Hamiltonian Problem? Explain with an

example using back tracking.

6. Attempt any two parts of the following :

(a) Explain the algorithm for finding all

m-colorings of a graph.

{by For .Em following graph having four nodes
represented by the matrix given below.
Determine the all pairs shortest path :
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(¢) Explain the need for approximation algorithms
and how they can be used for NP hard problems.
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1. Attempt all parts of the following :

(a)
(b)
(c)
(d)
(e)
(f)

[Maximum Marks : 60
Attempt all questions.
SECTION-A

8x1=8
Define Big ‘Oh’ notation.

What is meant by Linear Search?

What is the drawbackof greedy algorithin?
Define post-order tree traversal.

State the principle of optimality.

What is Graph Cloning?
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